HENRY PARK PRIMARY SCHOOL
2013 SEMESTRAL EXAMINATION 1

PRIMARY 4 SCIENCE
Duration of Paper: 1 h 45 min R
100
Name: ( ) Parent's Signature
Class: Pr4
Booklet A (60 marks)

For each question from 1 to 30, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical Answer
Sheet. o : - ‘

1.  Which of the following statements about matter are true?

(A) All matter can be seen.

(B) All matter has mass.

{C) All matter occupies space.
(D). Al matter can be compressed.

(1) A and D only

(2) Band Conly :

(3).A, Band Conly : B { )
{4) B,CandDonly :

2. The diagram below shows 3 different containers A, B.and C. All of them cortain
' different amounts of water.

-~ of air-

75 om?
of air

400 cm®*

200 cm® m*
of water

150 cm?®
of water -

Container A Container B Container C

Which of the above containers can contain 80 cm- of air?

{1) Conly
(2) A and B only
{S)AandConly

@A BandC ' | «( )
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3.  The table below shows the properties of W, X, Y and Z.

Property w | X T Y Z
Has mass - ' No | Yes | Yes | Yes
Has definite volumo o No No Yes | Yes -
Has definite shape : | No 'Nd "No Yes
Can be compréssed | No Y_'es‘ No- No | |

~ Which of the following matches the correct objects to their properties
mentioned above?

B W X ] v A
™ Light Ar Stone | Water
(2) Heat Light Bottle Air

(3j Shadow OXYQGﬁ. Water loecube
@ Oxygen AT ice cube | 'BOtf'le e

4. . The mass of 4 cubes of the same volume made of different matenals are
shown in the table below.

6500

700g

Based on the volume and the mass of the 4 cubes whtch of the following

statements is corect?

(1) The bigger the mass of the object, the bigger its volume.
(2) The smaller the mass of the object, the smaller its volume. -
(3) Objects with different mass can have-the same volume. -
(4) Objects with the same mass can have different volume.
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5. The flowchart below shows how some substances are put inte groups A, B, C
and D.

s it a matter?

Yes . w

Doesithavéa | - | Canitbe seen?
definite volums?-

N(/ \{es Yes/ \\Io
| ' c|]  |bp

A B

John warrted to classify heat in group C. However, hlS teacher said it
““\Was wrong.

Which of the following statements correctly shows his teacher's exptanatlon‘?

(1) it is a matter with a definite shape.
(2) it is a matter with no definite shape.

- {3) ltis.not a matter and it can be seen.. C . '
(4) Itis not a matter and it cannot be seen. ‘ {

6. Differentamounts of substance X was placed inside 5 sdentlcal 10m* containers.
The table below shows the mass and volume of substance X in each container.

Container -~ | A 8 C - - D E
Mass of X (kg) 112 14 | 16 18 | 20
Volume of X (m®) 10 10 [ 10 | 10 10

' | _What is subsfénce X most likely to be?

(1) Air

{2) Tea

(3) Water

(4) Marbles : { )
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7. Grace lowered a piece of string attached fo a stone into a measuring cylinder
containing some water. )

What could the possible volume of the stone and water be?.: -

‘Stone{cm®) __Water (cm®) -
Mo 300 1 300
2) 50 - 300
{ &) - 300 : 250
G ' 50 1 250 ¢
Page 4 of 32
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8.  The diagram below shows a tank with a tap containing some water in it.

Tank

Air

The volume of the container is 4000m
When the tap was tumed on, 50cm’® of water flowed out before the tap
was turned off.
Which one of the following graph shows how the volume of water and air

changed after the tap was turned off? :

(D (3)
Volume Volume |
Time
(2) . {4)
Volume’ Volume
Time
‘Volume of Water
m—————ae .- Volume of Air

P4.Sc SA1 2013. .
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9. Which of the following statements is true about heat?
A It occupies space.
B: Itis a form of energy.

C: It has a defiite shape.
D: It can only be obtained from the Sun

(1) B only (3) A, B and C only
(2) B and D only N (4) A, B and D only

10.  Which of the following is NOT a source of heat?

(1) The SJn _ (3} Flame from a lighted matchstick

N

(2) Bunsen bumer flame . {4) An ice cube

_ ' Page 6'of 32
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11.  What is the temperature shown in the thermometer below?

- thermometer

(ye4c L @)70%C
(2) 68°C (4)71°C

- 12, KiTan went to the swimming: poo! When he got into the pool, he felt very .
o cold and started shivering.

Which of the: follownng explains why Kl Tan felt very cold?

Kl Tan’s body ' Temperature of the “Ki Tan's body
temperature .| waterin the pool -
(1) . Higher - - Lower - - ‘Gains he'at
@1 Higher  Lower - | . lLosesheat
3) | Lower __Higher - __Losesheat
4) Lower = - ~Higher - Gains heat -
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13.  The diagram below shows some hot water in a jug being poured into a
glass that contained some cold water.

Water at 80°C

Water at 20°C

Which of the following statements is true after water from the jug is poured
into the glass?

A: The water in the glass will have a temperature of 80°C.

B: The temperature of the water in the glass will increase.

C: The temperature of the water i in the glass will decrease.

D: The water poured from the j jug wilt Iose heat to the water in the glass.

(A and C only A and B.only
(2) B and D only (4) C and B only . (

14. A straight bar was made up of 2 different metals, Metal P and Metal Q,
joined together. When the bar was heated, it curled downwards as shown
below. :

Which of the following correctly explains what happened to the bar?

(1) Metal P expanded more than Metal Q.

(2) Metal Q expanded more than Metal P,

(3) Metal P expanded and Metal Q contracted.

(4) Metal Q expanded and Metal P contracted. (
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15. Sonya placéd 4 cbntainers, A, B, C and D of different materials at the

same location under direct sunlight for 5 hours,

The table béiow shows the temperature inside each container at 10-

* minute intervals.
Time | = B Temperature (°C) , .
(min) | Container A | Container B | Container C | Container D-
¢ .30 . .30 30 - 30
10 . * 33 .34 . - 35 32
20 39 40 42 . 35
30 |- 42 42 . 49 39
40 .| 46 | 850 | . 86 40

Which of the following containers; A, B, C or D, will keep drihks cold for

the longest period of time?

(1) Container A

{2) Container B

(3) Container G-
_{4) Container D

o Page §'0f 32
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Siti wanted to find out how temperature of coffee affects the amount of

time taken for it to reach room temperature She set up her experiment as |
follows.

20°C room temperattire

Cup 1 | Cup 2

100m1 of cofiee 100mi of coffee
5°C 35°C

She left the 2 cups of coffee in the room for 30 minutes and recorded the
temperature of the coffee in both cups at regular intervals. She- then
presented the data ina graph

Answer guestions 16 and 17 using the experiment above.

16.  Which of the following graphs shows how the temperatures of the 2 cups
of coffee most likely changed over. 30 minites?

(9 ®
® - b @
B — -
2, 20 g 30 cup 1 )
§ = 5 =
i » J
15- 4
E *1 F o el
16 -
] T ¥ T ¥ ~ o ¥ T T T T ¥
5 10 1 20 25 G S ﬂ_’ % . 5 30
Tine i) ime (min)
2} \ R )|
0 . : « -
o — 35-l‘\ Cup 2 )
£ £ w AP
. | e
.25 - o SR .'.‘.'...-.__..h_‘. e s
g 204 E 204 : .-h_.,”-h-.-
§ g . ‘
P el Ll .
s s~ Cup 1 \
2 ¥ T T ] T ° T ¥ e N ¥
s L - T § 10 S
Tima (min} . Time {min}
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17.  Which of the following variables must she keep the same to conduct a fair
experiment? :

A: Material of the cup.
B: Amount of coffee in each cup
C: Temperature of coffee at end of experiment
- D:ITemperature of the coffee at start of experiment -
(1).C only _ (3) C and D only
(2)AandBonly (4) A, B and D only
18. Which of the following is NOT a system?

(1) A plant (3)Acar
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19.

The diagram below shows the different systems in the human body.

(1) |Providesthe | Helpsus move ;
| shape for our - digested food. | breathe
body to ali parts of '
- ‘ . . the body L
) Helps us move | Transports Helps us Provides the
digested food | breathe shape for our
" | to-all parts of body
the body - L :
-Transports | Helps us Provides the . | Helps us-move
(3) | digested-food | breathe shape for our '
to all paris of : body
the body 3 _
{ Helps us -Helps us move | Transporis Provides the
(4) | breathe digested food | shape for our
» to all parts of body
“the body

20. The flowchart below shows the path taken by foed in the human digestive
system.
Start of path End of path
taken by food ' ‘ taken by food
‘W || Gullet > Stomach [-»1 X » Y st Z°

Which one of the following represents the small intestine?

(YW

(2) X
{3)Y
Az

' P4ScSAT2013.
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21.

The table below compares the functions of the smalt intestine and the

large intestine in the human digestive system

Small intestine

Large Intestine

"digest food.

A: | Digestion of food is carried out. No dtgeshon of food takes place.

B: . Dlgested food is absorbed anto the ' Undigested food is absorbed mto '
bloodstream. the bloodstream.

c: | Dlgestwe juices are present here to | Digestive juices are present here to

absorb water from the undigested
food.

Which of the following comparison(s) is/are cormrect?

A
(2) A

22,

only”
and B only

: 'S in the human d:gestwe system '

(3) Band G only _ :
(4)A,BandC (

The flowchart below descnbes the charactenstzcs of Organs P Q R and

- Does digestion

_ i Yes

start here? ' P
No

Are digestive Yes

juices found ———* Q

here?
No - _ ‘

- - ‘ .v

Is water | Yes

R

absorbed here?

' 'Whlch organ P, Q, Ror$, represents the mouth?

......

(1) P
(2)Q
(3R

4)s,

"P4-8¢.8A1 2013 .
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23. The diagram below shows org;anlx of the human digestive system. -

Organ X

Which of the following correctly describes the function of organ X?

(1) There-is digestion of food.

{2) Digested food is absorbed here.

{3) Water is removed from undigested food. ‘

(4) Partially digested food is pushed into the stomach,.

24. The table below shows how some animals are classified according to thelr

-charactenstics
Lives on land |
Eats insects ' Does not eat insects - -
Canfly. | Cannotfly | Canfly -} Cannotfly - -
Animal § A aAnimalT .

Based only on the classification table above, which of the foliowing
statements correctly describe the ,differerices between Animals S and T?

A: Animal S can fty while Animal T cannot fly.

B: Animal T has wings while Animal S does not.

C: Animal § eats insects while Animal T does not.
D: Animal T lives on land while Animal S dees not.

(1).A and B only
(2Y A and C only
(3) A, B and C only
(4) B, C and D only

, T Page140f32 =
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25. The diagram below shows some objects.

How can the objects in the diagram above be classified?

(1)Bysizeonly
(2) By colouronly .-
(3) By shape and size only
(4) By shape, colour and size

'26. " "The tablé below shows the 'cﬁa‘i'acteri;stic's of 4 animals, S, T, U and V.

Which animal, S, T, U or V,is @ bird?

Animals | Lay eggs Has Live in | Has wings |
_ . | feathers water '
M) s X X . v X
ol T v X X v
B u v v X v
@i v v X v X

A { 14 means it has the characteristics and a (X) means it doées not.

P4 ScSA1:2013
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27. The flow chart below shows classifi catlon of animais into 4 groups, P, Q,

RandS.
Two pairs of

wings :

- With Wings | N o
A pair of
win_gs -
Animals
- Round body .

Without Wings -

Using the information of the flow chart above, which of the following group
is Animal A hkely fo be in? :

’ Animal A
(1) Group P
(2) Group @ -
{3) Group R
.(4) Group'S , o - A 3|
 Page 160f 32
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' 28. Zahar conducted an experiment using 4 similar slices of bread to find out
how quickly bread mould will grow in different conditions.

Condition of place where . Amount of _
_ bread is placed moisture on bread
A Cold Low
B Wam | High
c Warm Very Low
D . Very Cold Very Low

On which bread will he see the most amount of bread mould after 6 days?

(A
(2)8

3)C

(4)D-

— o Page 17 of 32 _
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29. Neison studied 4 plants, A, B, C and D, and recorded his observations in
the table below.

A () means it has the characteristics and a (X) means it does not.

Pl tsr ___Characteristics _

an Bears fruit Grows on land
A v 7 .
B v - X
C X v
D v v

The classification chart below shows how some plants are classified into 4
groups, S, T, Uand V.

Plants
L ' |
Flowering . Non-flowering
L ‘ | — : i
Grows in Grows ontand Grows in Grows on land
water ' . water _
I ] [ 1
s T u - LY

In'which group, S, T, U or V, can Plant D be placed in?

s
T
@)U
4V

i . Page 18 0f 32
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30. Jenny-compared the hardness of 3 containers, A, B and C shown below by

scratching them with an iron nail.

She then recorded her observations in the table below, using a tick ( v') to show

that there are scratch marks on the containers.

PO

A B o C

tron nail

Scratch marks found on each cbnfainer :
' Appearafl-,ce of A ] | B ‘C'
containers -
* Deeply scratched X v ' X
Lightly scratched X —x 1 < 1
N ‘No scratches v x . lX -

A (v) means It has scratches and a (X} means it does not have scraiches.

Based on the results above, arrange the containgrs from the softestto the . -

hardest. .
Softest - - — > Hardest

M A B c

@ B c A

3) C _ B A |

@) B A C

(
i ‘End“of’Bo‘oklet"A" e e e e

o - Page 19 0of 32
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HENRY PARK PRIMARY SCHOOL
2013 SEMESTRAL EXAMINATION 1
SCIENCE
PRIMARY 4

40

 Name: e )
Class: Pr 4

Booklet B (40 marks)
Write your answers to questions 31 to 44 in the spaces given.

_ 31. 2identical cups A and B were inverted info a basm of water in the diagram shown
beiow. Cup B has a hole: at its base.

hole
B
basin 6fwater | - T
a) In which cup, Aor B, will more water enter?
(1m)
b) Explain your answer in (a). (2m)

_ Page 20 of 32
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32 ‘Peter was given a deflated soccer ball as shown below. He pumped in
air and realised that the ball became inflated.

He measured the mass of the balt and recorded it down in the table.

Then he pumped in more air into the ball another 2 times and recorded the
-~ mass in the table below.

... [|Défiatedball |
[ . Massofball [ 5009 600g

 Study the table above carefully.

a) As miore air was pumped into the ball, the siZe of the ball remamed the same.
Explain why. _ : _(1m)

- b) “ Eib!éin why the mass of the ball increased from 500g to 750g. {im)

' Page-21 of 32
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33. Jamie wants fo make a cup of tea. She used a can opener and punctured a
hole in a can of milk. While pouring the milk into a cup, she realised that the
milk was flowing out very slowly.

a) Why is the milk flowing out so slowly? - (zm

- b) What can Jamie do to let the milk flow out more quickly into'the cup?
Give a reason for your answer. (2m)

o Page 22 of 32
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34.  The graph below shoWs the changes in the temperature of substance X as it was

heated. :
Temperature of X (°C)
N D
i
1
B i
i 1
i 1
1 {
H § 1
! i I
! I i
1 ] i
- | 1 i ]
' ! : L > Time (mins)
a) Atwhich point{s), A, B C or _D, was substance X heated? - _ (1m).

b)'._At which parts of the gfaph, AB-,‘ BC bi-' CD, Wés substance X gainihg heat? (tm)

¢} “At which part of the-graph, AB, BC or CD, was the temperature of substance
X decreasing? Give a reason for this change. - {2m)

Page 230f32
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35. The diagram below shows 2 similar containers A and B.
One is made of steel and the other plastic.
300ml of water at 80°C was poured into each container.

Container A ' Container B

The temperature of water in each-con'tainer was measured and recorded at 10-minute
intervals as shown in the table below. The room temperature was 28°C.

. Temperatufe of water in the containers ‘
Time taken- | Omin_ 10min_ [ 20min_ [ 30min_{ 40 min
A _80°C 58°C _44°C 28°C 28°C
B 80°C___|._71°C 65°C 54°C__| 46°C _
a) State which container, A or B, is made of steel. : o - (Im)
by Using ‘iriforrnatibn‘ from the table, explain your answer in, (a). (Zm)
Page 24 of 32
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36. Alice carried out an experiment using the set-up below.

heated

N flask.
with air
rubber stopper :

glass tube

Y ’

S Beaker of
[ . — . } ____._-—-—--""' co]oured water

She heated the flask gently with a flame. After some time, she observed some
bubbles-in ‘the coloured water of the beaker

a) Explain how the bubples were formed. ' {2m)

b) Alice used another set-up similar to the one above, She. used ice:fo. coel the flask

instead of heating it.
Then she observed some coloured water-i in the glasstube, Explain why. (2m)

Page 25 of 32
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37. Jane conducted an experiment using 4 similar raw eggs. She placed each-
‘egg into 4 identical beakers. Then she poured different amounts of water of
the same temperature into each beaker as shown below.

Beaker A Beaker B E?eaker c BeakerD
150mi of * 200ml of 300mi of 400mk-of-
waler at water at water at. _water at.
8000 SOOC '8000 8000 B
After 10 minutes, she (ecorded the resulf in the table below.
" Condition of eggs _ |
Beaker A . BeakerB . BeakerC -. | BeakerD. j
Not cooked at | " slightly cooked | = Three-quarer Fully cooked
all - cooked ‘ g
a) Name the.variable that is changed in this experiment. .. (dm}
- aker e
b) in which eentdiner, A, B, C or D, does water have the least amount of heat?
-Using information from the table, give a reason for your-answer. . J{2m}
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38. The diagram below shows the human digestive system.

ﬁ

a) Tick (v} in the boxes provided above the parts of the digestive system
where food is digested. : o

b) Name the organ in which food absorbed into the bloodstream.

¢) Name the organ in which  digestion is completed:

' Page 27 of 32
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39. Gupta carried out an experiment to find out if human saliva breaks down
starch in the food we eat.

He prepared 2 beakers, A and B, each with 10mi of starch solution. He added
5mil of saliva {o Beaker B only.

Beaker A BeakerB

10ml starch solution - 10mi starch solution
No saliva added -~ ' 5ml saliva added

After some tlme Gupta added some iodine solution into each beaker to check
for the presence of starch

Iodme solutlon wnll turn dark—biue If starch is present and will remain brown if
starch is absent. .

a) . What must Gupta keep the same when using the iodine solution during (77}
the experiment? -

b} Gupta recorded his results in the table below.

Beaker . ' A - B
' Colour of Jodine ... Dark blue Brown
Based on his resuits, what can Gupta conclude from this expefiment? (1m)
Page 28 of 32
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40. MrTan cartied out an experiment using some uncooked meat.
The table below shows the steps and results of the experiments.

Set-u p A ' Set-up B

Type of uncooked meat One large piece 15 smaller pieces
With a mass of 100 grams | With a total mass of

1 100 grams

Amount of digestive juice 40 ml | 40 mi

added

Time taken to be fully 6 hours .| 3 hours

digested

Explain why the meat in set-up B tock a shorter time to be fully digested.

(2m)
41, Study the diagram of the fish tanik below. -
J ARAALARALER LR RRRARR | A
— _....«.. T - | - water
- e .
ML ’ R N N ~ ‘ fish
 Complete the sfatements below based onthe diagram ebove, ~~ @M

A ot i e

" (a) - The fishes died after some time as they did not gé_t enough

(b). .The fishes also.need | : .. {o survive.

e " Page 29 0f32
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42. The flowchart below shows the characteristics of Animals A, B, C and D.

Animal

»| Does it live in water?

No

No
Does it have wings?
Yes
o No
Can it fly? B
Yes

A

Based on the flow chart above; write the letters, A, B, C and D in the correct

1 Yes
C

boxes below to represent the following 4 animals.

P4 Sc SA1Y 2013
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43. The flow chart below shows the characteristics of 5 d_if.feren‘t,kinds of leaves;

Start
k4
- Does it : . S — . :
havea | - Yes. | — | Isitheart- Yes,_,+ Lime Leaf
toothy - shaped? '
edge? | T
No | —Y___ " Yes
Y o Is.itround? ———*| Mustard Leaf
Is it long Yes I wittow Leaf o
and narrow? | - v
Maple Leaf
No -
h A _
Pawpaw Leaf )

(3m)
Use the flow chart to identify and write the names of the 3 leaves
A, Band Cshownbelow. .. - . . . .o Lo

Page:31.0f 32
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44. The diagram below shows a bicycle.

* Frorh the picture above, choose the correct parts that are made of the .

following materials and write the letters, A, B, € or D, in the boxes below. (2my
Material I - Part of bicycle -
Metal
Rubber .
End of Bookiet B

Setters: Mrs Liu YH & Mdm Doris Heng
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EXAM PAPER 2013
SCHOOL : HENRY PARK

SUBJECT: PRIMARY 4 SCIENCE

~ TERM : SA1

Q11021 03 | Q41 Q5 | 06: Q7 | Q8 | Q9 | Q10| Qi1 QiZ-.Q13 Q14| Q15 | Q161 Q17|
2'4'3_3.4‘1 4 1 |1 4 2"2_ 2‘, 1 4.1 a4 ]2

018 [ 019 [ 020 [021 [ 022 [ 023 | Q24 Q25 | Q26 | Q27 928 | §29.] Q30
4 1 3 2 1 . 1 3.1 2 4 3 4 2 2 2

Q31a)Cup B :

Q31b) The hole allows air to escape so that more water enters the space previously

occupied by the air.

Q32a) Air can be compressed.

Q32b) Air pumiped in is matter and air has mass.
. Q33a) There is no opening for the air to enter the can. .

Q33b) Make ancther opening in the can.. '

Q34a) Points Aand C

Q34b) Parts CD and AB

Q34c) BC. Substance X lost heat to the surrounding air.

Q35a) Container A

Q35b) The temperature of the water in container A reached 28Cina shorter time and
--—-this-shows:that-A-is-a-better conductor-of -heat.
QQ36a) Air gained heat and expanded and escaped from the glass tube as air bubbles
Q36b) The air-contracted when it lost heat so the coloured water went up the tube to
occupy-the space previously. occupied. by the air.
Q37a) The amount of water poured into the beakers.
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- Q37b) Beaker A. It contains the egg‘that is least cooked in 10 minutes.
Q38a)

(@38b) Small intestine

Q38c) Small intestine -
Q39a) The amount of iodine used. -
Q39b) Gupta can conclude that human saliva breaks down starch in food we eat.
-Q40) The meat in set-up B has been cut into smaller pieces with bigger total exposed.
surface area and it was easier to digest.

Q41a) air

Q41b) food

Q42) [p [B
C |A.

Q43) Leaf A: Maple Leaf
Leaf B: Mustard Leaf
- Leaf C; Willow Leaf
Q44) Metal: B, C
Rubber: A, D -
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